{) { Xz |—wst
&Y
Y= 2- am2t
ax Ay s
ol_'t: = A/Jht J z —d—z__ F —2m2t [
> oA - '
7:% s —Qwsdt. % AnT

@) 2Ll 0% vy -2wat o &y

ol
l-242t = 0
FoT ARt L &Y p‘-i=iffl——
L
o<tcm 93t (t=g, FO| pas
Ef £ [2)- n [a-3
.t° ﬂt? @’I—DSZ' :[—E—
3 oAl 3 243
't-z-flwt?!@r I—usznt%] tris
(3) o<x<¢<m Iz %:AJ»‘L>D THhY

_;‘% = - Jws3t= -2 (l-m.‘u’tl)
« 4 (a2t - )
|
= 4 (aet-g)(at w55 )

T Wi E 3 Fadsdca3 Wziz CodBEAS (X Fordizisld

S 14 (tefn)
Tt 3 3 1 ©
t |o 'y f,ﬂ.‘._.:.:JL
5 S A Min I M N
-3—2- — 0 + ) = | 2
) o) N\ [BR 0| 7 |GE ) \)J(z,n
{

4) JTH3MmIRe SeFir

2 . X0----2
§:§ Ydx THY Jx:z\mtdt/t 0 -. - — “
T 0 2-2 |

0 &Y

<
S - S (2-an2t) At dt
(0]

T
- g (2t - 24t eost ) dT
©

. 124
= [-Susr —?—th_]o

= -2 (-1-1) = [4]




